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Topic:- English
1)
Question Stimulus :-

Fill in the blank with the correct option.

you turn that music down a little, please?
e Could
* Must
e Might
* Should
Correct Answer :-Could
2)
Question Stimulus :-

Fill in the blank with the correct option.

Thick carpet_____ reduce the echo in this hallway.
* must
* need
* ought to
* would
Correct Answer :-would
3)
Question Stimulus :-

Fill in the blank with the correct option.

Jorge didn't play well. He feeling tired.

e can have been



* cannot have been

¢ shall not have been

* might have been
Correct Answer :-might have been
4)
Question Stimulus :-

Fill in the blank with the correct preposition.

We're planning to turn the smallest bedroom _____ an office.
* for
* into
* from
e by
Correct Answer :-into
5)
Question Stimulus :-

Fill in the blank with the correct preposition.

The area in the park where the kids play is fenced _____ for safety reasons.
e off
* from
e by
* into
Correct Answer :-off
6)
Question Stimulus :-

Fill in the blank with the correct preposition.

Do you play any other sports basketball?



* besides

* beside

e along

® across
Correct Answer :-besides
7)
Question Stimulus :-

Fill in the blank with the correct preposition.

Citizens have demanded a full inquiry the government's handling the
epidemic.

¢ into, of

e for, on

e from, for

e by, in
Correct Answer :-into, of
8)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

®* Most of the people

e of southern India

* do not know the Hindi.

* No error
Correct Answer :-do not know the Hindi.
9)

Question Stimulus :-



DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e Every day the Sun

® rises in the east

* and sets in the west.

* No error
Correct Answer :-No error
10)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

® Whole town

e was destroyed

e by the earthquake.

* No error
Correct Answer :-Whole town
11)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e If you weren't afraid of spiders
e you would have
e picked it up and put it outside.

®* No error

Correct Answer :-No error

12)



Question Stimulus :-
DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.
e I have not seen him since past twenty five years,
e so I cannot say with certainty
e whether he is alive or dead.
* No error
Correct Answer :-I have not seen him since past twenty five years,
13)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’'.

e If we will reach the airport

* on time,

e we will surely catch the flight.

* No error
Correct Answer :-If we will reach the airport
14)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e Before the teacher could
¢ finish the question,
® the students gives the right answer.

®* No error



Correct Answer :-the students gives the right answer.

15)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e I wishI have

* Jearnt swimming

e when I was young.

* No error
Correct Answer :-I wish I have
16)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

David’s neighbour said, Do you like to play golf”’?

e David’s neighbour asked if he likes to play golf.

* David’s neighbour asked if he has liking for playing golf.

e David’s neighbour asked if he liked to play golf.

e David’s neighbour asked if he like to play golf.
Correct Answer :-David’s neighbour asked if he liked to play golf.
17)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

The king said to the prince, “You must go the forest and remain there till your father
calls you back”.

* The king told the prince that he must go to the forest and remain there till his
father called him back.



e The king told the prince that he could go to the forest and remain there till his
father calls him back.

* The king told the prince that he shall go to the forest and remain there till his
father will call him back.

* The king told the prince that he must go to the forest and remain there till his
father will have called him back.

Correct Answer :-The king told the prince that he must go to the forest and remain
there till his father called him back.

18)
Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

The Priest said to the man, “All your faults will be pardoned if you confess them”.
®* The Priest told the man that all his faults will be pardoned if he confesses them.
* The Priest told the man that all his faults will be pardoned if he confessed them.
e The Priest told the man that all his faults would be pardoned if he confesses them.
* The Priest told the man that all his faults would be pardoned if he confessed them.

Correct Answer :-The Priest told the man that all his faults would be pardoned if he
confessed them.

19)
Question Stimulus :-

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

Did he remember the date and time?
e Is the date and time remembered by him?
* Has the date and time been remembered by him?
e Had the date and time been remembered by him?

® Were the date and time remembered by him?

Correct Answer :-Were the date and time remembered by him?



20)
Question Stimulus :-

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

The girls were digging a hole in the ground.

®* A hole has been dug in the ground by the girls.

* A hole were being dug in the ground by the girls.

e A hole had been dug in the ground by the girls.

* A hole was being dug in the ground by the girls.
Correct Answer :-A hole was being dug in the ground by the girls.
21)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

The workers have been punished by the Management for the negligence of duty.
e The Management has punished the workers for the negligence of duty.
e The Management have punished the workers for the negligence of duty.
e The Management has been punishing the workers for the negligence of duty.
e The Management had been punishing the workers for the negligence of duty.

Correct Answer :-The Management has punished the workers for the negligence of
duty.

22)
Question Stimulus :-

Choose the grammatically correct sentence out of the given options.
e He likes to travel by air as he is always short of time.
e He likes to travel by the air as he is always short of time.

e He like to travel by the air as he is always short of time.



e He like to travel by air as he is always short of time.
Correct Answer :-He likes to travel by air as he is always short of time.
23)
Question Stimulus :-
Fill in the blank with the correct option.

He has given me documents to read before the presentation tomorrow.
* few
* afew
* the few
* a little
Correct Answer :-a few
24)
Question Stimulus :-

Fill in the blank with the correct option.
The teacher called ___ students who were sitting in the class to the staff room.
°* few
* afew
* the few
* a little
Correct Answer :-the few
25)
Question Stimulus :-
Fill in the blank with the correct option.

He needed help from me.
o little

e a little



e the little
o few

Correct Answer :-a little

26)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

"Something is coming uphill," said Mother Wolf, twitching one ear. "Get ready." The
bushes rustled a little in the thicket, and Father Wolf dropped with his haunches under
him, ready for his leap. Then, if you had been watching, you would have seen the most
wonderful thing in the world—the wolf checked in mid-spring. He made his bound
before he saw what it was he was jumping at, and then he tried to stop himself. The
result was that he shot up straight into the air for four or five feet, landing almost
where he left ground.

"Man!" he snapped. "A man's cub. Look!"

Directly in front of him, holding on by a low branch, stood a naked brown baby who
could just walk—as soft and as dimpled a little atom as ever came to a wolf's cave at
night. He looked up into Father Wolf's face, and laughed.

"Is that a man's cub?" said Mother Wolf. "I have never seen one. Bring it here."

A Wolf accustomed to moving his own cubs can, if necessary, mouth an egg without
breaking it, and though Father Wolf's jaws closed right on the child's back not a tooth
even scratched the skin as he laid it down among the cubs.

How little! How naked!, how bold! said Mother Wolf softly. The baby was pushing his
way between the cubs to get close to the warm hide. "Aha! He is taking his meal with
the others. And so this is a man's cub. Now, was there ever a wolf that could boast of a
man's cub among her children?"

"I have heard now and again of such a thing, but never in our Pack or in my time," said
Father Wolf. "He is altogether without hair, and I could kill him with a touch of my foot.
But see, he looks up and is not afraid."

The moonlight was blocked out of the mouth of the cave, for Shere Khan's great square
head and shoulders were thrust into the entrance. Tabaqui, behind him, was squeaking:
"My lord, my lord, it went in here!"

"Shere Khan does us great honor," said Father Wolf, but his eyes were very angry.
"What does Shere Khan need?"

"My quarry. A man's cub went this way," said Shere Khan. "Its parents have run off.
Give it to me."

What does the word ‘haunches’ mean?



e The back legs of an animal

e a hump at the back of an animal
® a prolonged tail

* None of the above

Correct Answer :-The back legs of an animal

27)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

"Something is coming uphill,"” said Mother Wolf, twitching one ear. "Get ready." The
bushes rustled a little in the thicket, and Father Wolf dropped with his haunches under
him, ready for his leap. Then, if you had been watching, you would have seen the most
wonderful thing in the world—the wolf checked in mid-spring. He made his bound
before he saw what it was he was jumping at, and then he tried to stop himself. The
result was that he shot up straight into the air for four or five feet, landing almost
where he left ground.

"Man!" he snapped. "A man's cub. Look!"

Directly in front of him, holding on by a low branch, stood a naked brown baby who
could just walk—as soft and as dimpled a little atom as ever came to a wolf's cave at
night. He looked up into Father Wolf's face, and laughed.

"Is that a man's cub?" said Mother Wolf. "I have never seen one. Bring it here."

A Wolf accustomed to moving his own cubs can, if necessary, mouth an egg without
breaking it, and though Father Wolf's jaws closed right on the child's back not a tooth
even scratched the skin as he laid it down among the cubs.

How little! How naked!, how bold! said Mother Wolf softly. The baby was pushing his
way between the cubs to get close to the warm hide. "Aha! He is taking his meal with
the others. And so this is a man's cub. Now, was there ever a wolf that could boast of a
man's cub among her children?"

"I have heard now and again of such a thing, but never in our Pack or in my time," said
Father Wolf. "He is altogether without hair, and I could kill him with a touch of my foot.
But see, he looks up and is not afraid.”

The moonlight was blocked out of the mouth of the cave, for Shere Khan's great square
head and shoulders were thrust into the entrance. Tabaqui, behind him, was squeaking:
"My lord, my lord, it went in here!"

"Shere Khan does us great honor," said Father Wolf, but his eyes were very angry.
"What does Shere Khan need?"



"My quarry. A man's cub went this way," said Shere Khan. "Its parents have run off.
Give it to me."

What does the word ‘altogether’ mean?
e Completely
® Partially
e Separately
* None

Correct Answer :-Completely

28)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

"Something is coming uphill," said Mother Wolf, twitching one ear. "Get ready." The
bushes rustled a little in the thicket, and Father Wolf dropped with his haunches under
him, ready for his leap. Then, if you had been watching, you would have seen the most
wonderful thing in the world—the wolf checked in mid-spring. He made his bound
before he saw what it was he was jumping at, and then he tried to stop himself. The
result was that he shot up straight into the air for four or five feet, landing almost
where he left ground.

"Man!" he snapped. "A man's cub. Look!"

Directly in front of him, holding on by a low branch, stood a naked brown baby who
could just walk—as soft and as dimpled a little atom as ever came to a wolf's cave at
night. He looked up into Father Wolf's face, and laughed.

"Is that a man's cub?" said Mother Wolf. "I have never seen one. Bring it here."”

A Wolf accustomed to moving his own cubs can, if necessary, mouth an egg without
breaking it, and though Father Wolf's jaws closed right on the child's back not a tooth
even scratched the skin as he laid it down among the cubs.

How little! How naked!, how bold! said Mother Wolf softly. The baby was pushing his
way between the cubs to get close to the warm hide. "Aha! He is taking his meal with
the others. And so this is a man's cub. Now, was there ever a wolf that could boast of a
man's cub among her children?"

"I have heard now and again of such a thing, but never in our Pack or in my time," said
Father Wolf. "He is altogether without hair, and I could kill him with a touch of my foot.
But see, he looks up and is not afraid.”



The moonlight was blocked out of the mouth of the cave, for Shere Khan's great square
head and shoulders were thrust into the entrance. Tabaqui, behind him, was squeaking:
"My lord, my lord, it went in here!"

"Shere Khan does us great honor,"” said Father Wolf, but his eyes were very angry.
"What does Shere Khan need?"

"My quarry. A man's cub went this way," said Shere Khan. "Its parents have run off.
Give it to me."

What is the meaning of the word ‘twitching’?
* To make a sudden small movement with a part of the body
e Itching or scratching
®* Snoring or making loud noises
®* None of the above

Correct Answer :-To make a sudden small movement with a part of the body

29)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

"Something is coming uphill," said Mother Wolf, twitching one ear. "Get ready." The
bushes rustled a little in the thicket, and Father Wolf dropped with his haunches under
him, ready for his leap. Then, if you had been watching, you would have seen the most
wonderful thing in the world—the wolf checked in mid-spring. He made his bound
before he saw what it was he was jumping at, and then he tried to stop himself. The
result was that he shot up straight into the air for four or five feet, landing almost
where he left ground.

"Man!" he snapped. "A man's cub. Look!"

Directly in front of him, holding on by a low branch, stood a naked brown baby who
could just walk—as soft and as dimpled a little atom as ever came to a wolf's cave at
night. He looked up into Father Wolf's face, and laughed.

"Is that a man's cub?" said Mother Wolf. "I have never seen one. Bring it here."

A Wolf accustomed to moving his own cubs can, if necessary, mouth an egg without
breaking it, and though Father Wolf's jaws closed right on the child's back not a tooth
even scratched the skin as he laid it down among the cubs.

How little! How naked!, how bold! said Mother Wolf softly. The baby was pushing his
way between the cubs to get close to the warm hide. "Aha! He is taking his meal with



the others. And so this is a man's cub. Now, was there ever a wolf that could boast of a
man's cub among her children?"

"I have heard now and again of such a thing, but never in our Pack or in my time," said
Father Wolf. "He is altogether without hair, and I could kill him with a touch of my foot.
But see, he looks up and is not afraid.”

The moonlight was blocked out of the mouth of the cave, for Shere Khan's great square
head and shoulders were thrust into the entrance. Tabaqui, behind him, was squeaking:
"My lord, my lord, it went in here!"

"Shere Khan does us great honor," said Father Wolf, but his eyes were very angry.
"What does Shere Khan need?"

"My quarry. A man's cub went this way," said Shere Khan. "Its parents have run off.
Give it to me."

Why did father wolf drop his haunches?
®* To get ready to jump
®* To rest for a while
* To stand still

* None of the above

Correct Answer :-To get ready to jump

30)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

"Something is coming uphill," said Mother Wolf, twitching one ear. "Get ready." The
bushes rustled a little in the thicket, and Father Wolf dropped with his haunches under
him, ready for his leap. Then, if you had been watching, you would have seen the most
wonderful thing in the world—the wolf checked in mid-spring. He made his bound
before he saw what it was he was jumping at, and then he tried to stop himself. The
result was that he shot up straight into the air for four or five feet, landing almost
where he left ground.

"Man!" he snapped. "A man's cub. Look!"

Directly in front of him, holding on by a low branch, stood a naked brown baby who
could just walk—as soft and as dimpled a little atom as ever came to a wolf's cave at
night. He looked up into Father Wolf's face, and laughed.

"Is that a man's cub?" said Mother Wolf. "I have never seen one. Bring it here."



A Wolf accustomed to moving his own cubs can, if necessary, mouth an egg without
breaking it, and though Father Wolf's jaws closed right on the child's back not a tooth
even scratched the skin as he laid it down among the cubs.

How little! How naked!, how bold! said Mother Wolf softly. The baby was pushing his
way between the cubs to get close to the warm hide. "Aha! He is taking his meal with
the others. And so this is a man's cub. Now, was there ever a wolf that could boast of a
man's cub among her children?"

"I have heard now and again of such a thing, but never in our Pack or in my time," said
Father Wolf. "He is altogether without hair, and I could kill him with a touch of my foot.
But see, he looks up and is not afraid.”

The moonlight was blocked out of the mouth of the cave, for Shere Khan's great square
head and shoulders were thrust into the entrance. Tabaqui, behind him, was squeaking:
"My lord, my lord, it went in here!"

"Shere Khan does us great honor," said Father Wolf, but his eyes were very angry.
"What does Shere Khan need?"

"My quarry. A man's cub went this way," said Shere Khan. "Its parents have run off.
Give it to me."

Why did father wolf stop in the middle of his jump?
* Because he saw a man’s cub
e Because he was frightened
e Because he was extremely tired and lethargic

® None of the above

Correct Answer :-Because he saw a man’s cub

Topic:- Hindi
1)

Question Stimulus :-
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2)
Question Stimulus :-
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3)
Question Stimulus :-
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4)

Question Stimulus :-
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11, DI AT A9 a1 91 59 dig & 919 & [Pt 3R a1ren @1 ¥RS [y @ y1iRia gies ae St 3t
m%uﬁweﬁmm—&wwaﬁ%lwaﬁmﬁgﬂﬁwwamm

IUANT TP g 9nf 8, e §t smara-fata &1 st yRY Sl g gl- "

AGRT YIPRIAT G cAlfaerT TR STHR $O §H g fHdgT Hm-" g@wﬁﬁsﬁ'ﬁmm%ﬁaﬁ%m
Wmmhm%maﬂﬁmﬁmﬁaﬁ%mw%maﬁvﬂwﬁﬁﬁwmﬁ
M U........ 1” ey & iR @S g, o SR ot Yo yfawn & = agt o ‘ i

39 Yaq & fmior &1 99 99 ?ﬂ%ﬁﬁﬁﬂﬁﬁﬁh@ﬁaﬁ%laﬁw Taeht oot gt smaza@arsei
e gt &1 AR w7 yferel” ofk TR-U09 U= By A ST $él el R awe #t fieg W T iR
T el # foran grm-wifey @ fisRy 3@ arel @1 g1 Wil WG arell 1 TP SR ges-we, SR A
mmwwmm%mwwﬁmﬁmwwmeﬁ?qumwﬁ
UIAdl § Ugdl 9 Hol gﬁ'—lﬁﬂ?‘m‘d 3G IBTHY ged & IRT AR MGl | Isadl §8 dail- "I
wwﬁvﬁmﬁqw ¥ Terdt §1”

T § yge “HEIa” ®1 Wel aiy-fayg ok Suet yer Fafafed g
* HEl + N9 - WR WY
* WEIq + |a - Fol A
* UE: + Iq - fawet |@fy
* HEl + IHd - WR Iy
Correct Answer :-Hgl + 3349 - ¥R |y

5)
Question Stimulus :-
FafafEa T @ aFYde Tew] I A i T sgfawadt uxAl § w8t fawer &1 age w

fagTus war o Js F Iafa &1 3@ 2, SUR g wRiw & e ok o sidem R1 wvrar @ ¥9T g 3 arer @
fRren, fagm=, Spfa ik ARy g1 Faa gy Far & fore § IuahT T8 s, 3 ot omw i 59 %?
mmmmélm-ﬁﬁwméﬁmmeﬁmﬁamélerq-—ﬁuﬁ'é’ra?ao—éatq'ﬁaﬁ
mw B AT W AT 9T 39 a3 & A & fdt iR aren & wiRe fAfy ¥ usiRe g arar st @

ATHT & Ufd WIRS B FT Wol 3igT HR @ 31 TR M a1 g & 9g el af bl arrPr
faenfiat «) fRyfeaeas & feia TuRe w <) 3RmT & od, SO Fed o1 w ?%TIT muet e
mﬂwﬁm%mﬁmmﬁmammuaﬂﬁmlgﬁ%ﬁw%?ﬁmﬁ-@m W T TP RS
AGRT YIHIAT §3MT Ao UR TP $© 39 a¥g fAded Ham-' g@ﬁﬁﬁgﬁamm%ﬁiﬁ%
THAd] &1 IRT 3T g8 & <R g1 arelt $u-1 H g, aﬁ%sﬁ?%uﬁmaﬁ?ﬁwﬁﬁﬁwﬁm
TGMT UL....... I” fawy & dfer @S BN, oA IRER @1 ¥ vfaqr & - ugl @it g B
svW%ﬁﬁﬂﬁ%maﬁ%ﬁﬁmaﬁm&ﬁaﬁ%lmwwsﬂ&mﬂmﬁemwaﬁ
e gt &1 AR wuft 7 yferer” ik TR-09 U= By A ST $él e R awe Ft fieg W @ SR
T gl # foren grn-wife @ SfisRy 3@ arell @1 39T Wil WG arell 1 TP SR ges-we, SR A
mmwwmm%mwwﬁmﬂﬁmwwmw BTHR TP =Y Bt
mﬁu@mm ?Hgnmﬁmwmmmwwﬁm?ﬁgéﬁ-“
g ISP At 3 g daR ¥ Terdt §1”

-



SURIS TR BT Faifie Sugad e ghm-
. cee ¥ Frww
* TR UL B WO
o fogmo= gu
o fagua ok wfe

Correct Answer :-fagmu=a g

6)
Question Stimulus :-

Frafafaa s o wryde yeet 39 Y G T sgfawad uxal o 98 fawen &1 999 &9

Wd & 4Rl 94 7 doR, I 7 SAIg-eHl|
gfopar ardl, ol 3,

TPl BOA Pl S,
qHd T & |

UG g’ §9-a1%, W UR-UR G|
g1, ggdl, 1, 7,

gg @ Siid-alt|

3T BT 3T & P,

3R 7T saTer AT

St @I Y W YA, 999 a8l S| @l
WIfd 9y 1R fmfon &,

9 WX JUTHL

TUaT Ft AR &,

@ B URIRY AT

I AR AT Rl WX, THSD DHI-DIATI
gt & e Suenet g9 g | |



A B ol ol TpdT?
* TS BUd I SHA drell
* TSl BUd T are
* P! B ¥@A arell
* UH BHA UHM arel

Correct Answer :-Us! Bdd &I S99 ardl

7)
Question Stimulus :-

fFrafafaa s o wryde yeet 39 Y G T sgfawad uxal o 98 fawen &1 999 &9

Wd & 4Rl 94 7 doR, I 7 SAIg-eHl|
gfohan ardl, ol 3,

TPl BOA Pl S,
qHd T & |

UG g’ §9-a1%, W UR-UR G|
g1, ggd, 1, 7,

ga @l Siid-alg|

3T BT 3T & FIS,

3R 7T saTer AT

S WHT | @R YSAT, 99 el 3| @il |
WIfd 9y 1R fmfon &,

9 WX JUTHL

TUaT Ft AR &,

A B UFTRY A |

I AR AT Rl WX, THSD DHI-DIATI
frdt @ | Suemeht 59 fAd @ 9@



2= P 81 G FIfRe"-SToHi & SMYR W R M 1 gfef Fifore-

° 3
o M
Correct Answer :-dod

8)
Question Stimulus :-

Frafafaa s o wryde yeet 39 Y G T sgfawad uxal o 98 fawen &1 999 &9

Wd & 4Rl 94 7 doR, I 7 SAIg-eHl|
gfopar ardl, ol 3,

TPl BOA Pl S,
qHd T & |

TEHT TG’ -1, W UR-UR ST
g1, ggdl, 1, 7,

gg @ Siid-alt|

3T BT 3T & P,

3R 7T saTer AT

St @I Y W YA, 999 a8l S| @l
WIfd 9y 1R fmfon &,

9 WX G

TUaT Ft AR &,

@ B URIRY AT

I AR AT ¢l WX, THSD DHI-DIATI
gt & e Suenet g9 g | |



o YRy
Correct Answer :-4TfRY

9)
Question Stimulus :-

fFrafafaa s o wryde yeet 39 Y G T sgfawad uxal o 98 fawen &1 999 &9

Wd & 4Rl 94 7 doR, I 7 SAIg-eHl|
gfohan ardl, ol 3,

TPl BOA Pl S,
qHd T & |

UG g’ §9-a1%, W UR-UR G|
g1, ggdl, 1, 7,

gg @ Siid-alt|

3T BT 3T & FIS,

3R 7T saTer AT

St @I Y W YA, 999 a8l S| @l
WIfd 9y 1R fmfon &,

9 WX JUTHL

TUaT Ft AR &,

@ B URIRY AT

I AR AT Rl WX, THSD DHI-DIATI
gt & e Suenet g9 g | |



DI-HIT B THDI?
* WE YRel W D I
* T YRl U HAGI I
o T§ Yl UR T Iawm
* TE tRel WX YPER Iax

Correct Answer :-9d Rdl T¥ T I

10)

Question Stimulus :-

Frafafaa s o wryde yeet 39 Y G T sgfawad uxal o 98 fawen &1 999 &9

Wd &1 4Rl 94 7 doR, Id 7 SAIg-eHl|
gfohan ardl, ol 3,

TPl BOA Pl S,
qHd T & |

HEHT g’ -1, W UR-UR 11|
qgal, ggd, 1, 7,

ga @l Siid-alg|

3T BT 3T & FIS,

3R 7T saTer AT

S WHT | @R YSAT, 99 el 3| @il |
WIfd 9y 1R fmfon &,

9 WX G

TUaT Pt AR &,

A B UFTRY A |

I AR AT Rl WX, THSD DHI-DIATI
frdt @ | Suemeht 59 fAd @ 9@



T $Y BT gA1d PifoTe-
o Hfa A gt A A1 Iuom +1 wew o @
o Bf3 A frgt § AT SUSH @1 Waw e @
o Hfa AL q 3 SuSH BT T far @
o ofd A A & 3 SUSA &1 waw faar &
Correct Answer :-%f3 3 firgl & W91 Iuem &1 wew faan 3

11)

Question Stimulus :-
"wUt i fra gerar &1 orf 8-

* &SI P A
* 3TN HT |IY
* 3G BT ART
* & & I
Correct Answer ;-39 $T q1T

12)

Question Stimulus :-
Ardifad &1 3 3-

e | v sfaa

Sryrferd Ife

o Ty
° TETQI
Correct Answer :-@i% | yaferd 3fa

13)

Question Stimulus :-

U &1 Wi o giar -
o Hfarfea



o IRifg@

o IWI G

o A PK TR
Correct Answer :-fif@

14)

Question Stimulus :-
“FHAAURIUET | PIH-HT A &-

* YYH dYFY

o Gl gy

* T TGy

o TwH AYEY
Correct Answer :-S@H! aaq=y

15)
Question Stimulus :-

‘Seminar’ g $T Ta! 3 8-

Correct Answer :-3mgt

16)

Question Stimulus :-
e Furfed #31 & forY Suga v 8-

® Expedite

® Urgently



® Quickness
® Fastness
Correct Answer :-Expedite

17)

Question Stimulus :-
34T &1 faey 2 ghm-

* W

* IW

* 3Rd

* 3cq
Correct Answer :-3%3%

18)

Question Stimulus :-
o T a1 # SR fawer @ Raa wum & giff sifsrw
“IadTdl o Wasdedl H....... B Wt 8, af Shtad g faufea g1 @ra 817

Correct Answer :-uRRurd

19)

Question Stimulus :-
S o1 fadm g ghm-
o wuf
° g
* Wy



* 9§
Correct Answer -3y

20)

Question Stimulus :-

3R e g F Tad fAPey b1 99 M-
* m
* g
° T
o fagm
Correct Answer :-a@@

21)

Question Stimulus :-

3BTl Weg “ga” & WE fawew 1 Tw Ffore-
* guid
* gfw
o fafyr
o fquwm
Correct Answer :-gxid

22)

Question Stimulus :-

PR g & Hefta 9 8-
e iR
* ¥R
® BHFU[

] Grsr’l.rd



Correct Answer :-§IR

23)

Question Stimulus :-
R v & quf wrag ® 5w ur 3t siffrear wedt 82

o 3

o et

* TV

o T A I T
Correct Answer :-3ii<

24)

Question Stimulus :-
e T & T v wIsg @1 99+ S
“ait fdt avg ar fawa o emwea T 81

* 3THH
® J3METHI
o I
* 3|
Correct Answer :-3H{1Hdd

25)

Question Stimulus :-

“Ifydaia” Teg & e areaisr &1 999 Hifore-
o S F i1 4T 8
o o 9= 7 fear gt

e ) g9 91 aruft gRT $al = ST Jbdl &l

* T A FI T



Correct Answer :-Sif ga 91 arofl §RT &gl 9 ST |l 8l
26)
Question Stimulus :-
S TR BT 799 BIfoTe-
* TE 5 H WY O I d §
o 33 F1 4R AR € AR THaT @
o Mg ga1 & AP A W SIS 38 T
o & YU | FrdeT Hm =nfey
Correct Answer :-gd Uy 9 faea &3 aifde
27)
Question Stimulus :-
R[S ATRT BT IgT Pifoe-
o T ARG aFfed @ e
o -SRI S WATG Pl 3
* PUU AR a1d W G o
e 9 A BIS T
Correct Answer :-37% & 31§ 8l
28)
Question Stimulus :-
g forfaa 6 argai=n & | uyw g Sifow fAfda §, v o 3fua w0 # gy Fifvm]
(1)- ufar A 1% RpisHe o,
(F) -SSP °AH FAPY
(7)- "8 gAY I SR
(9)- | Y& W YIsdl &1 9@ 7 fHar s
(9)- T9IR IR Fg fear f
(6)- A%t &7 H M o Tl B



e gY¥dd
e ¥IJqAY
e Y9y
e ggdv
Correct Answer :-=Ydddy

29)

Question Stimulus :-
A fofeaa 6 arwain & & gyw 9 sifow ffda &, A @1 SR ww § afya TRl
(1)- YRd
(T) -S=dT gRT
(3)- U TURTSY §
(S)- Y& =T
(T)- fores wgufa srufq weareas
(6)- IT &A1 &
® gXdd
e ¥XdYgd
e dqYgdXx
e ggqdXx
Correct Answer :-3d9d

30)

Question Stimulus :-
& feft g ot SR TE Sigar” - 5T yBR @1 A 32

o fafaurer®
o fzggara®

* URAddD



o fAYTHS
Correct Answer :-fFiyrds
31)

Question Stimulus :-

“UERIUT WY &1 A1 I9 A g 7@ 87 - 57 UoR &1 9 82
o fafaurer®
o fEaE®
* YIAAS
o FEyTH®
Correct Answer :-fFagaras
32)

Question Stimulus :-

“TRIY TSI ¢ THTE d=aR 9§ BT § HIH-91 PR 8?2
* P
® HorgurH
o eI
® qargu™
Correct Answer :-qgury

33)
Question Stimulus :-

IUAY, ITHM, ATYRYT 4 3¥ arae Weg P epR & 37 &2
° AW

® J3UHT



Correct Answer :-39H1

34)

Question Stimulus :-
g wgelt @1 oref gf3re-
Ui HYAR Ui [, g A ST Yob {1
o Bl
o UE-gu
* ISl T HEd
o T A B TR
Correct Answer :-9=H-JuRt

35)

Question Stimulus :-

o ugeh &1 onf fdme-
“Biel -91 $Tdl IR, TAT 389 SUR-3UT 1"

.

e Uq

* Bl

° R
Correct Answer :-3r1dl
36)

Question Stimulus :-

fra are &1 "agur Fifere-

foft & TR & 31, BT -0 yar fpdt safewy &1 I a1 WHTE 78 g1 &1 Hdil g9R U B gl
PIg 7R I ar WY s

* H1 qul od PV G
* HIUA T T FHorall W A gAY
o IWad Y



o T A DK T
Correct Answer :-%1ad 819 7 ol | 3 q1g A
37)

Question Stimulus :-
Hipe’ BT TH eg FHTI-

e SulR

o Tl

@

o T A B T
Correct Answer :-gd@dr
38)

Question Stimulus :-

“aqI® + STl BT |iY eg gig-
o gl
* greTd
* g
* qI=ITd
Correct Answer :-aried
39)

Question Stimulus :-

g ufemal f5a o¢ &1 IqEw &2

1Y HFA & Fart, Tt g a
TugaT 1 Hifeal ur, AT e 1|
dg wAt 3t fadst, U9 | ge |
o] B BIfaAl | @ A T |



. shelifim
o T
o IeAredl

Correct Answer :-fifaer

40)

Question Stimulus :-
o ¥ @ P9 v o Iyl &1 wET gan 82

* JUBR
* TAHGHD
o wgré
* 3JUATYH
Correct Answer :-3U&R

a1)

Question Stimulus :-

g dfeaal # ®19-91 79 82

<Y ggd Sifadl ard
U YR Gifg-il ggdaradl
TP YR W8I WRI 31el|

o HIN qr
o TUNT IR
o g §TR
o faghT aras

Correct Answer :-JaRT TR



42)

Question Stimulus :-
“frede @1 Wi frde &-
e A+ =g
o VB +3
fa+ dg
e = + B¢

Correct Answer :-fd + 3¢

43)

Question Stimulus :-
Y 2Meg BT wE o T B2

o S TPV B TG g

o o7 uv 3rque fopar mam @

o Y 5l & ufar emwea &

o it & FJ-FiS Te arenm
Correct Answer :-foft & i8-8 To= aren

44)

Question Stimulus :-

g g gume & fha R § yeiiRa giar 82
* I=A
. %in
o Jar
o IqAH
Correct Answer :-gdR

45)

Question Stimulus :-



O¢ P R fHa &Rl & UG B 70T HeT FATdT 82
o a
o A
* IR
* Tig
Correct Answer :-{|

46)

Question Stimulus :-

fFafafaa o @ #1F-f $fa, udy w1e7 22

o faErdl TR
Correct Answer :-IHaRd AT
47)
Question Stimulus :-

CANCELLED
T3 9 fhdq UoR & g &2

° 1
® 6
e 10
° 12
Correct Answer :-6

48)

Question Stimulus :-

U & gRT fUar & forg uzr o sifare gim-



STIPT STATHTRY
. Sy
* ¥Ia¥ UUImH
o YUTHIER
Correct Answer :-3reR YUIH
49)
Question Stimulus :-
HYTET, AYSTET, AYHE — IG1Y fbd I bt 82
o fiftet puUR AR
o Yar! yuTE fiy
o gitawr g g=4
* AR
Correct Answer :-gRa=r 30 @+

50)

Question Stimulus :-

“TYTd B T & TETPR $T A G-
o MY RiE e
o AR T
* JIURIP Ug
o T ¥l
Correct Answer ;-3¢ i

51)

Question Stimulus :-
frafafEa area & 919 a1 fRm s ger 82
918 U8 Hul faswT 22

o yuffeR



o Uy fRm
o fawrg fRm R
o fydwre g
Correct Answer :-fawg R g

52)

Question Stimulus :-

o ok =i Ius o e FA F g 5w favm e &1 waRT e e &2
* UY IEP
o fawranfs dus
o qof fiRm
o 3y favm
Correct Answer :-fawmanfe dius

53)

Question Stimulus :-
“ 3T gEAT” TR BT He 3 2-
o TR A ST ST G
° wEEEm
o IR fd@r g
* YPTEC § TG H a¢ ol
Correct Answer :-y@mae d 9e & & g

54)

Question Stimulus :-

“gH o1 P A8) Th o1 P g1 Albifad &1 del 3 82
® {FT H Gl

o JgP! Aar Y B el



* I & WIN T
° JEURT | B ATHAT | 8 ST
Correct Answer :-9gaiT q & AT F g ST

55)

Question Stimulus :-

& quf fb quif & TgANT | I 32
* T+T
* T+ W
* T+
* T+ T
Correct Answer :-% + 4

56)
Question Stimulus :-

3ft, oft BT IR WM -
o J3irsay
* FHUSISY
o AT
* d
Correct Answer :-%UsIa

57)

Question Stimulus :-

frafafaa 9 9 Aoy ae a9 &1 999 Fif-
e PTG, PR AW AR
o et # R g1 S &
o PanTEOTAT



o IAY & 7 34 A gHRT AT farsm
Correct Answer :-sfiaq # fAR121 g1 3 =t

58)

Question Stimulus :-
7 Weg-g & faweul § 9 I8 ord-wg &1 99+ Fifore-
frer-ter

® Jde-Uel
o HPI-PE
o gg-dret
* PP-ad
Correct Answer :-gg-dio!

59)

Question Stimulus :-
9 21 g & fawedl § P T faweq 9@ Tol ¢1 Tod T PT 997 Bifore-
o Hfor-woft
* QU-ea
* UN-AH
o gH-ggdl
Correct Answer :-g&-ggal
60)
Question Stimulus :-
f5u W ¥ vt 3= Wo' & vatgard 32
o R, Fm, T91, &
o &Te, Sifhed, YaH, aRs
o Ry, &wma, S, sifdaa
o Y™, yeiq, e, Hwa



Correct Answer :-2¥g, &9, A4, sifda=

61)

Question Stimulus :-
oo g & 9t g vafgarh 82

o gdur, 35, ®iE, YPR

® 1d, dd, 4Uc, 9sl

3[4, TR, 3ifAd, IHR

3, g9, gdT, WA
Correct Answer :-gdvl, 3TgAT, Hid, gH
62)
Question Stimulus :-
T VoG BT T4 Hifore-
® Yl
* HMHI
°* HHE®
® HIdd
Correct Answer :-HM™I1

63)

Question Stimulus :-
IR T ¥ fraa A a1 &2

o TH I DI Ao
Correct Answer :-2

64)



Question Stimulus :-

SUHI, TP, SHET SEPR [Fd ATPR F UG 82
o IMUN PR
. TKTPR
o JufdieR
* IHICPR
Correct Answer :-3RifaaR

65)

Question Stimulus :-
afvywor # Juwrt 8-

T

* A

e Ui

o TR
Correct Answer :-uiY

66)

Question Stimulus :-
fra afU & em + T =8, 3 + 30 = 3t 8 T 82

o gfg W
T WR
& wR

* U TR
Correct Answer :-3f& @R

67)

Question Stimulus :-



I’ DI T qES I & ol T fHT U BT WA Hei?
° 3
e
* @
* 3
Correct Answer :-31

68)

Question Stimulus :-
TG e ¥ IUR - o @l fgl gRT agsr WReR AR fafwg wvar 8, Sat qufd &) yTer $ed 2

ST, gAY uigy

ST, IR g1
mard qdsTy Tt
o AfRYAI=ROr T

Correct Answer :-8i. ST§R™ TG

69)

Question Stimulus :-
Fradq ¥ gUR- URd A fran ymaT ufar 82

. 4

Correct Answer :-6

70)

Question Stimulus :-
ugan fay fig awes feae! sraemar & gom?

o gfawr mich



o 3. 3gd PAH
o @ AR IHTEH
o RIS T
Correct Answer :-R@ IR @™

Topic:- General Knowledge
1)

Question Stimulus :-
The largest Airport in India is in ./ HRd ? g d3S1 631% Mgl i %I
* Mumbai / §§8

® Bangalore / STAR
e Delhi / el

® Chennai / ﬁﬂ'&f
Correct Answer :-Delhi / fe&h
2)
Question Stimulus :-

Match the following and select the correct answer from the codes given below: / ra &t

firems o R RE 7T Fiel & YR R I SR BT 999 DI

List-I List-I1
1. Amithab Bachchan a. Music composer
2. Sachin Tendulkar b. Businessman
3. Mukesh Ambani c. Sports Person
4. A. R. Rehman d. Film star
gf-1 gf-11
1. ffaTy == a. HfildeR
2. |fiF dgaex b. AR
3. G aFT c. faanst
4. T.3R. gaH d. feew aftma

® 1-d,2-c,3-b,4-a



® 1-d,2-c, 3-a, 4-b

® 1-c,2-d, 3-b, 4-a

® 1-d, 2-b, 3-c, 4-a
Correct Answer :-1-d, 2-c, 3-b, 4-a
3)
Question Stimulus :-

What is the scientific name of mango? / 3{TH &I aﬁ'lﬁﬁ?qm T %?
® Mangoa emblica / Amam ﬁéﬁm
® Mzadirachta indica / m gT(ﬂW
® Mangifera indica / AT Eﬁ"ﬂ)—[
® Mhyllanthus emblica / firdu ﬁéﬁm
Correct Answer :-Mangifera indica / AT f$er
a)
Question Stimulus :-

Laughing gas is called as ./

WA (AfthT 39) HY Ped gl

Hydrogen dioxide / E'IB@T:FI STS3MTHATSS

Sulphur dioxide / HfSTH STZ3HTFATSS

® Hydrogen peroxide / EE@FF'T ﬁv‘mﬁs

® Nitrous oxide / ATg¢H m
Correct Answer :-Nitrous oxide / TT3eH ATFATSS
5)

Question Stimulus :-

Which of the following can be the easiest way to predict an upcoming Earthquake? / fFafafaa d @ @9 smmft
Y&y Pt Yiawamh o F e 9ad o adieT 8 wwar 82

® Huge release of Methane gas / T 79 & urd ﬁﬁ



® Release of Radon gas / YS9 Bt ﬁl‘{ff%fr
® Release of Carbon Dioxide / CACE| m@ﬁﬂ'\‘lﬁg ®1 ﬁﬁr
® None of these / Eﬂﬁ I ﬁﬁ T-Iﬁ

Correct Answer :-Release of Radon gas / Y I Ft ﬁlﬁr

6)
Question Stimulus :-

Which one of these is a task switcher in Windows? /E:Iﬁ: q &9 91 Udh fasie e Ra=R %I
® Alt+Tab
o Ctrl+Alt+Del
® Alt+F4
® Alt+PrintScreen

Correct Answer :-Alt+Tab

7)

Question Stimulus :-

One of the main coalfields of India are located in the YR B qJe0

PIAPIET A H TP --mmmmmmmmmm HfRease
® Assam Valley / 3THTH °Tt
» Konkan Valley / wi®u urét
® Southern States / GI&OT I
e Damodar Valley / TG g1t

Correct Answer :-Damodar Valley / GFIGY °TdY

8)
Question Stimulus :-

Who among the following won the Magsaysay Award 2016? / fafafad # 9 fa=
A [RBR 2016 Sitar ?

e Himanshu Aggarwal / Wiy srrmam«



e Amitabh Kant / sifiamy &ia

e Kailash Satyarthi / e gamdf

* Bezwada Wilson / SWaTST faee=
Correct Answer :-Bezwada Wilson / S9aTST faea
9)

Question Stimulus :-

Pulicat lake is located on the borders of Andhra Pradesh and . gﬁlﬁ sﬂ?r, 38l USRT 3R G
W wR fRyE B

e Karnataka / ®-Ilc®

* Tamil Nadu / afarg

e Kerala/ &:d@

® Rajasthan / ST
Correct Answer :-Tamil Nadu / afarg
10)

Question Stimulus :-

Ajanta Caves are found in / 3[SI~dT BT gl tné STelt 8
e Karnataka / HCH
e Tamil Nadu / 0@ =15
® Rajasthan / TSTRYTq

® Maharashtra / HEIRTY

Correct Answer :-Maharashtra / HEIRTY

11)
Question Stimulus :-

Which of the following States is on the border of Odisha? / g o ¥ &9 91 Ieu Snfexn &t Fr w

e
e Bihar /fa8R



® Meghalaya / ATy

® Manipur / TIﬁTER'

e Andhra Pradesh / 3T m
Correct Answer :-Andhra Pradesh / 38/ m
12)

Question Stimulus :-

Which of these monuments is located in a State capital? / ?F'I'el Y S g1 RS TP I B ST T fRua

3

Gol Gumbaz / Td TGS
Charminar / IRTHAR
Meenakshi Temple /ﬁl:lT&‘ﬁ qﬁ?
Golden Temple / E'Uf'q'ﬁ?'

Correct Answer :-Charminar / JRFHAR

13)

Question Stimulus :-

Find the odd one out. / f79 & I fawy ﬂﬁl

® Bangalore / TR

® Mumbai/ ﬁﬁ'{

® Bhopal/ yiaret

* Tamil Nadu / dffd ATg
Correct Answer :-Tamil Nadu / Tf0d ATg
14)

Question Stimulus :-

Which is the second largest country in Asia by area? / &3wa & feaE I TR &1
TR Y 98T 3 B AT 3?2

® Russia/ "



 China /¥

e India/ HRd

e Saudi Arabia / T3¢l 3R
Correct Answer :-China / 919
15)

Question Stimulus :-

Which is the world’s second largest continent? / ﬁ'%{ DT g¥HRT qad CEL Ts'l?fltl Cac k)| %?
® America/ 3MAfY®T
® Antarctica/ 3eThiedl
® Africa / 3MPIHT
® Europe / @U

Correct Answer :-Africa / 3WBI®T

16)

Question Stimulus :-

Which wood is traditionally used to make cricket bats? / TRUR® ¥4 ¥ fordbe &1 I 9 & fore fbw
aAFSt BT AN fHar s g2

Willow wood / faet g8

Almond wood / 3TdHS IS

Cork wood / ¢ g5

®* Banyan wood / CEDE] q9s8

Correct Answer :-Willow wood / fa@l g8

17)

Question Stimulus :-

Sakshi Malik is associated with which sports? / TT&ft Afer® fors @'ﬁa?ﬂTU\_{Eﬁ §'§%’-’
® Swimming / GRIG|
e Canoeing / ¥=igu



® Judo/ ﬁ?ﬁ
® Wrestling / Q‘W?‘ﬂ

Correct Answer :-Wrestling / $Xcil

18)

Question Stimulus :-

Who among the following is known as ‘Master Blaster’ in cricket / ﬁ'ﬂﬁl’@?{ i | ﬁ aﬁﬁ, ﬁm’ |
"HREY SR & A U ST SITdT 82

® Ricky Ponting / ¥t mifem

e Rahul Dravid / Jgd &fdS

e Kumar Sangakar / PHR BRI

e Sachin Tendulkar / IR ﬂgﬂw
Correct Answer :-Sachin Tendulkar / AfI dga®H
19)

Question Stimulus :-

Who is the Indian Captain under whom Sachin Tendulkar made his test debut? / 98 YR $WH S %
Rrd qga Afe dga®x A U1 Ugdl oxe #T Qan?

¢ Mohammad Azharuddin / 'lﬂgﬂl'c{ \?NIE'\@T-I
e Kapil Dev / ®f0@ 3g

® Krishnamachari Srikkanth / EEEUTI'Hil'Iﬁ fiwid
® Sunil Gavaskar / g?ﬂ?r RICES X

Correct Answer :-Krishnamachari Srikkanth / $OMTHIRY ftwia

20)
Question Stimulus :-

Shweta Rathore is associated with ./ Q?IT £ [] [ — & 1Y \‘{l}ﬂ %’I
® Swimming / aTﬁﬁ
® Table Tennis / dga A



* Polo/Tial

® Body Building / STa! fafeaT
Correct Answer :-Body Building / T8 fafegw
21)

Question Stimulus :-

‘Just Do It’ is a famous tagline associated with which footwear and sports accessories manufacturer? / "SIR¢ § §C" g

RIS ST fd Sfd ok W anwlt fafar & 99 82
 Lee Cooper / Tl PUR
o Nike/ g
e Woodland / §SAS
e Adidas/UfSS™
Correct Answer :-Nike / ISP

22)
Question Stimulus :-

Which among the following countries is the largest producer of Cotton? / 7 & & DI AT ST, FUNH BT
Y TST SAGP &2

® Turkey / Eﬁﬁ

e Brazil / STfo@

® Argentina/ SrSffeT

® None of these / 3‘-{3[ I 39"]'5: el

Correct Answer :-None of these / 38 & ®Is 8l

23)
Question Stimulus :-

Which among the following is the largest rice producing State of India? / g 9 9 YR ¥ 99 &1 999
ST IAEH T DI § 2

* West Bengal / Uf3® &a

* Madhya Pradesh / U0 Ud=T



e Uttar Pradesh / 3R WXl
* Chhattisgarh / UG

Correct Answer :-West Bengal / Uf3# st

24)

Question Stimulus :-

Which of these are known as Veblin goods? / E:I'l}l J aﬁq It dgeq ayq & U § ST St %?
 Luxury goods / fa@rRrar &1 |y
® Cheap goods / HXdT HT
® Household articles / WW
® Basic goods / STUR Y a?ﬂ\’rﬁ

Correct Answer :-Luxury goods / f[I@TRIdT &1 ¥

25)

Question Stimulus :-

Who among these lived the longest? / g ¥ 3 g alt S db P oiifad W/ A
e Rajiv Gandhi / ITiq TTeR
® Jawaharlal Nehru / SIdlgRdld ﬁg'\!a
® Indira Gandhi / Eﬁﬂ et
® Sanjay Gandhi / Torg e
Correct Answer :-Jawaharlal Nehru / STaTgRaTd A8
26)

Question Stimulus :-

Who among the following is a honorary citizen of the United States of America? / fadd#= Jgad I

AP BT G AEE ANNG 82
® Mahatma Gandhi / HelHT e

® Mother Teresa / HGY T
® Satyajit Ray / TedToId ¥



® Zakir Hussain / TfhR gﬁ-—r
Correct Answer :-Mother Teresa / HGT ST

27)

Question Stimulus :-

Who invented the first calculator? / fa= gud m 31 SffdspR farar
® Thomas Edison / YTHY Qﬁ-\qq
® Blaise Pascal / <Y YRS
e Samuel Morse / '\a'ﬁalﬁ o

® Aristotle / 3IR¥]
Correct Answer :-Blaise Pascal / <Y URPd

28)

Question Stimulus :-

Who is the CEO of Tesla Motors? / I Hicd & “\‘ﬂésﬁ CaC| % ?
® Carly Fiorina / BTl fhanf¥aT
® Indira Nooyi / Sfe=1 Tt
® Kiran Mazumdar Shaw / f&or HSHAGR =Y
e Elon Musk / & aw

Correct Answer :-Elon Musk / TdHF &%

29)
Question Stimulus :-

Who is credited with the first Spacewalk in human history? / HIFd gﬁ'@'ﬂ H wyyw 3fafer ord &1 99 fHA faan
ST 82

® Yuri Gagarin / ?I\Ff MR
® Alexey Leonov / Qﬁ?\‘ﬁ feraa

® Neil Amstrong / e Grlﬁ_\@m
® Rakesh Sharma / IS AT



Correct Answer :-Alexey Leonov / Taal fera-ia

30)
Question Stimulus :-

Who was the Captain of the famous Titanic ship? / URIE cgefA® g™ $T HWH BT UT?
* Edward John Smith / TSdS i fRIY
® [Issac Hull / TP &
® John Paul Jones /\_!‘l'\l':l' LGRS |
e William Ladd / faferay @
Correct Answer :-Edward John Smith / T89S G- Y
31)

Question Stimulus :-

How many women have served as the President of India? / faht 'FI'%?IT&ﬁ AR P ?I'g'lﬂ?f >
FY H PRIUR FHTAT 8 ?

° 2

Correct Answer :-1

32)
Question Stimulus :-

Among the following, which is the highest rank in the Indian Army? / Fafaf@d & & yrdg I 4 gate
UG P A 3?

* Brigadier / fSifewR
e Colonel / Hd
® Lieutenant General / Afede S Rd

® Major General / AoR S RA



Correct Answer :-Lieutenant General / Aftede SFRdA

33)
Question Stimulus :-

Who was the first woman Judge of the Supreme Court of India? / HRd & Wdre ArTad & UYH qfger
=ararefi=r i A

e Justice M. Fathima Beevi / SIReq TH WIfqHT didt

e Justice R. Banumathi / WRe¥ 3R yrgHAfd

* Justice Ranjana Desai / SIRe TS 31§

e Justice Gyan Sudha Misra / SR 31 g1 A
Correct Answer :-Justice M. Fathima Beevi / Sifee TH WIfdHT Jidt
34)

Question Stimulus :-

Who has the right to appoint the Attorney General of India? / HRd & eI oA Bl ﬁ'ﬂﬁ I BT AUPR
fas u 32

® President/ TIETIﬁ

® Prime Minister / WUTHA =i

® Vice President / 3U ?Tg"Tﬁ
e None ofthese/g_"lﬁ I aﬁé qﬁ

Correct Answer :-President / J7gUfd

35)
Question Stimulus :-

Which present-day city is the site of the historical city of Shahjahanabad? / trl%mﬁa? RMeR RTgSleHIdIG DT BRI
A | P AR 82

® Patna / UYcHT
* Kolkata / BraPpdl
¢ Delhi / faweht

® Cuttack / hCh



Correct Answer :-Delhi / faeeit

36)
Question Stimulus :-

Who among the following was hanged by the British Government in regard to the 'Kakori Conspiracy'? /

BTHR YU & ddy # fufafeaa & 9 fFa fafew ReR 7 wikft W aeo fear ar
* Chandra Shekhar Azad / 9% JRER 3G
e Bhagat Singh / HTd Rig
e Batukeshwar Dutt / ag%aﬂ o
e Ram Prasad Bismil / 319 yaT faf|ra
Correct Answer :-Ram Prasad Bismil / JTH UdTlq¢ fafara

37)

Question Stimulus :-

Who wrote the Book entitled ‘Ghulamgiri’? / A[ATHRIY i arelt g o fora <&
e B.R. Ambedkar / d 3R ESHI
e M. P. Pillai / TH Ut fUeqt
® Narayanguru / IRTAUNR=
e Jyotibha Phule / SOifaaT Bd
Correct Answer :-Jyotibha Phule / SAifaaT d
38)

Question Stimulus :-

Which committee has been constituted to monitor the functioning of the Medical Council of India (MCI)? / I A

afafa yrda faferer uitug (@aefiens) & sme™ o1 AR & e Tida # s @2
Vinod Roy committee / fadig v@ wfufa

® Ranjit Roy Chaudhury committee / Joita g et gfvfa
Bibek Debroy committee /Wam‘fav&rﬁr

® R.M. Lodha committee / 3[R.TH. T afafa



Correct Answer :-R.M. Lodha committee / 3R.TH. &ieT AfAf

39)
Question Stimulus :-

Where is the World Bank headquarters located? / Ay e o1 HETeg Fel (R 82
® Washington, D.C. / GTQTTIE:T, 1.4,
® Geneva/foMRar
® New York / qu‘fé?
® Philadelphia / fPaTSIRFAT

Correct Answer :-Washington, D.C. / TIRiTe, 8.3

40)
Question Stimulus :-

Where was the first International Earth Summit held? / Ygdl GI'_\'R'I@TI qzaﬁ IWad WTEGIT Y1?
® Mumbai, India / 151‘«!%, HRd
® Rio de Janeiro, Brazil / fyan a’ \_rlﬁ?gﬁ, a'lTrﬁ?f
® Tokyo, Japan / <, ST
® Shanghai, China / QT'EI'Ig, CIERI
Correct Answer :-Rio de Janeiro, Brazil / Y3 ¢ SHs2, FTeild

41)

Question Stimulus :-

Where is the Gobi desert located? / TN iﬁl’\‘?ﬂ:l' ﬁf @RI' %‘.’

® Russia /™Y

e Kazakhstan / PSIRAITT
° Mongolia/:i'rhm
 Korea / BITAT

Correct Answer :-Mongolia / Hnferar



42)
Question Stimulus :-

Which festival is known as Phagwa in Bhojpuri / 'l-ﬁ\_rl'l]:& ® 9 91 94 UgTar & AW SHT ST 82
® Pongal / i
* Diwali / dlareft
* Christmas / foraas
* Holi / geil

Correct Answer :-Holi / gl

43)
Question Stimulus :-

Jataka tales are a part of the scriptures of which of the following religions? / STd T mn‘& fadafeaud &

RCh
e Jainism / S 4w
e Buddhism / St
® Bahaism / 331% ef
® [Islam / SXITH

Correct Answer :-Buddhism / 91 ¢H

44)
Question Stimulus :-

Which operation was launched by India to rescue its citizens in South Sudan? / HIRd gIR1 af%rur gsTd i e ?%

3T ARTRD B F91 & AT 5T STuR=E Y Ieemd S T2
* Airlift / TORTIFRE
® Blue star / &¢] ¥%CIX

e Sankat Mochan / §&¢ =

® Rahat /ITed

Correct Answer :-Sankat Mochan / ¢ Al



45)
Question Stimulus :-

Who is the Union Minister for Information and Broadcasting? / T Td TR & ﬁﬂ'{ Fig wAt P %?
® Venkaiah Naidu /34T ATIg
® Prakash Javadekar / UBIR[ \_rlﬁéa?_{
® Arun Jaitley / 3% Stedt
® Radhamohan Singh / QTQITFn?q ﬁl?

Correct Answer :-Venkaiah Naidu / 34T A1Ig

46)
Question Stimulus :-

In which year was the atom bomb dropped in the Japanese city of Hiroshima? / g af # STU_ & TR

IR W 99 fiRmar war ure
* 1940
* 1945
°* 1948
° 1952
Correct Answer :-1945
47)

Question Stimulus :-

The United Nations World Tourism Organization celebrates World Tourism Day on / Hgdd MY fay wiem

[3 Ll (<] (R——— & fay wdfe fqw w=maT 31

September — 20 / fdaY 20

September — 22 / fydaR 22

September —27 / RrdaR 27

September — 25 / RIdaY 25

Correct Answer :-September —27 / RidaR 27



48)
Question Stimulus :-

Coal Bed Methane has beenfoundin ______ . / FId 98 HIdT - o urar T %l
® Sagar / IR
® Jabalpur / STdAYR
* Shahdol / ¥EGIA
® Indore / Ea?'

Correct Answer :-Shahdol / Ygard

49)
Question Stimulus :-

Largest river of Madhya Pradesh is / ] 'Q%QT P g a?ﬁ 7'|T:;Pf %
® Chambal / JH
® Betwa/ a?laT
o Sindh /Y
® Narmada / qﬁﬂT

Correct Answer :-Narmada / H’ﬁm

50)
Question Stimulus :-

From a geological viewpoint, which is the oldest terrain of Madhya Pradesh? / ‘I;L-ailTﬁﬁ?

=¥ |, AU T UTH-aH Y- YT DI AT 32
e Gondwana Land / e ds
e Deccan Plateau / &f&uft "o ®

e Bundelkhand region / W@ &=

e Eastern terrain / G Y-HTT

Correct Answer :-Gondwana Land / TS4dET ds

51)



Question Stimulus :-

When two numbers are multiplied their product is (-48) and when the first number is subtracted from the other
number the answer is 16. Find the numbers. / STd & BT BT U g SiTaT 8 Y 3T TUIA® gar e (-48)
3R o9 Ut T-AT DI gOIl HEAT I SR ST ¢ df IR 16 gl g1 eI e

° (12,-4)
°* (4,-12)
°* (4,12
° (-12,4)
Correct Answer :-(-12,4)

52)

Question Stimulus :-

1 1

Fill up the blanks &2 = gx____ / fyga @M i@l

® 05

® 0.05

e 25
Correct Answer :-0.5

53)

Question Stimulus :-
Simplify 14 X2y2 +7x y_9 / 14 xzy2 +7x y_9 Wadlpd Difora?
o 2y7 x2
o 2xyl!
o 2y7 x2 2y2
o 2y7 %2
Correct Answer :-2xy!!

54)



Question Stimulus :-
Evaluate: (4x-3y)% / (4x-3y)? BT eid- Hid |
® 16 x2 + 24xy +9y2
* 16x*+ 24xy-9)g
* 4x2- 12xy+9y?
® 16 x* -24xy+9y*
Correct Answer :-16 x* -24xy+9y”
55)

Question Stimulus :-

Find the value of x if the arithmetic mean of 8, 15, 6, 12 and xis 10. / / 'Clﬁ' 8,15,6,12 3R x BT GHIGR HIA 10 %

@ x &1 94 fAerferu|
e 11
* 15

* 12

Correct Answer :-9

56)

Question Stimulus :-

A special cereal mixture contains rice, wheat and corn in the ratio of 2:3:5. If a bag of the mixture contains 3
pounds of rice, the quantity of corn in the bag is . / T fa=iw 37 fygor o 14qd, ﬁ'g’ 3R HFPT 2:3:5
& U | ¢ mﬁm%w%ﬁw%sm% a’réﬂﬁwaﬁm%

e 85
* 6.5
* 95
e 75

Correct Answer :-7.5

57)



Question Stimulus :-

What is the measure of each exterior angle of al2 sided regular polygon? / T 12 Yuil CIGRERIEG] qggYsl &
TS FTES] HIUT T HIY AT 32

e 9q°
o 80"
e 60"
e 30"
Correct Answer :-30°

58)
Question Stimulus :-

Choose the equation for the line graph given below. / i fed T a1 Iw & o aeftever &1 9ue Fiforai

Yaxis

o y-_3

o xX=_3



Correct Answer :-vy=3

59)
Question Stimulus :-

What is the surface area of a cube whose side is 10cm? / Th U BT AAwd T % foraet Yol 10 It %?
® 600cm>
* 100cm’
® 1000cm?
® 6000cm’
Correct Answer :-600cm?

60)

Question Stimulus :-

Four congruent isosceles right triangles are cut from the 4 corners of a square with a side
of 20 units. The length of one leg of the triangle is equal to 4 units. The area of the

remaining octagon is . If this octagon is divided into two equal parts, then
the area of each part is / IR J49H TUBI YT 991 & 4 1 A FIE T §
Tt Yo 29 3@13 81 AP &) tF Yo 4 351 21 AV ATYS $T &6 HE IR

SATYS B! IR ffw! & AU 2, @ ude A 371 wa g
® 184 sq units, 368 sq units / 184 I BT, 368 T FHTS
® 368 sq units, 184 sq units / 368 it sarré, 184 ng
e 398 sq units, 184 sq units / 398 T FHTS, 184 I SPIS
® 380 sq units, 180 sq units / 380 Tt ng, 180 gt Eﬂ'ﬂg

Correct Answer :-368 sq units, 184 sq units / 368 T FHTS, 184 I SPHTS

61)

Question Stimulus :-

The large hadron collider of CERN is in / ;ﬁmmﬁ%ﬁq aﬁ?ns@? ﬁf@m%
* France / %9
* London / ©gd

e Germany / ¥



e Geneva / fSAar
Correct Answer :-Geneva / fo@dr
62)

Question Stimulus :-

A solution of salt in water can be purified to get pure water by the method of / & STl YTl FE B ﬁl"’{ oid |
wqul & faaaa &) 59 fAf grr fta fosar s 9ear g

® Filtration / ﬁ'\"‘qa?

® Separating funnel / 3¢ I B BIY

® Distillation / 3THdH

® TFractional distillation / TS 3Ia—
Correct Answer :-Distillation / 3T
63)
Question Stimulus :-

CANCELLED

The free ends of a tester should not be joined for more than a few seconds because otherwise / TR & Wad Rl

B TS ABUSI A TN X P fog 78 it =nfee wife s
* the bulb of the tester will get fused / ¢ HT I¢d W &l TR
® the battery will get heated / CLEIRIES| Bl st
® the connection wire will get burnt / IYUd dR Fd SRt

e the cells of the battery will get drained very quickly / 3¢ & I Sgd Sieg el 81 WA

Correct Answer :-the cells of the battery will get drained very quickly / T F Aq qdgd Sleq
Q! g1 S

64)
Question Stimulus :-

A colourless, odourless gas, heavier than air which extinguishes fire is / Th i‘lTé’F{, TR

9, ot ga1 ¥ YR 8 3R 3T g3t @
e Carbon monoxide / HTa HIFISNTFITSS



® Carbon dioxide / BT SISATRIES
® Nitrogen dioxide / T-I'E@FFT SIS ATHAZS
® Hydrogen peroxide / E'IT@T:FI RIS
Correct Answer :-Carbon dioxide / ®Td SIg3ATHIES

65)
Question Stimulus :-

Ozone layer protects us from harmful / 399 IRd AR SIN®R® q T BT ®

® Ultra violet radiation / TRaTHT fafevor
e Visible radiation / e<4 fafdur

e Infra red radiation / 3fa3ad fafeur

® Heat radiation / S fafes=or

Correct Answer :-Ultra violet radiation / UR&T+ fafzor

66)
Question Stimulus :-

Swimming costumes are made from a material called Spandex because it is / WE F NP WIF FEaA
arelt arrft @1 o+t gt @ e a8

* Absorbent & comfortable to wear / ARIYS BT & TUT Ug-1 A ARTHSAD gl @
e Soft & durable / PIHA dUT fePTS ﬁm ?
* Light & highly elastic / P TUT AAfYP TR giaT &
® Wrinkle free & moth resistant / ﬁlﬁq Had Ut ®ic Aeh '[ﬂ?IT %
Correct Answer :-Light & highly elastic / TP TUT AP AIGR FIAT &

67)
Question Stimulus :-

In which stage of cell division do the chromosomes move to the opposite poles

of the cell? / HIRTGT AU Ft FIA W @RI | TURT HIRIHT F faudia yai w o &2
e Anaphase-I / QT-ITW-I



e Metaphase-II / HeTho-II
e Anaphase-II / QHTQT\:I-II
e Metaphase-I / AeThel-1
Correct Answer :-Anaphase-I / QHTQW;I-I
68)
Question Stimulus :-
The primary organ of the respiratory system is /XG9I a1 T 43T 37T §
® Nostrils Y /
® Trachea / AT
® Bronchi / ﬁ'ﬁ)‘lﬁ'
® Lungs/ BWHg
Correct Answer :-Lungs / Bg
69)

Question Stimulus :-

The Scientific name of man is Homo sapiens what does the word homo represent? [ GI'Ia'lﬁ Cal asnﬁm - Eﬁ"ﬁ

Ifg=g g1 e T AT SxITaT 82

The genus / 9%

The species / STfd

The family / IRaR

The order /vH
Correct Answer :-The genus / I
70)

Question Stimulus :-

The study of internal structure of the human body is called / ATd YRR & SfiaiR®
HIET BT AT HeardT g

e Anatomy / TRIR Y& fagm=



* Histology / P fagT=
* Physiology / TRIR forar fagm=
® Morphology / Gflq)'ﬁ fagm=

Correct Answer :-Anatomy / IR I=4T fagm=

71)
Question Stimulus :-

CANCELLED

The average weight of 10 students is 24kgs.If a student of 18kgs is replaced by another student then the average
increases by 2.5 kgs. What is the weight of the new student? / 10 BT PT 3fd aor 24 %I uﬁw 1sfpat

& B P RIM R fodt ol o & 33 fear sre @ aft & sia a1 # 2.5 forat 9t 9fS g1 wimeett 1 [
BT BT a0 T 3?2

® 45
e 33
° 41
* 47

Correct Answer :-33

72)

Question Stimulus :-

Ba | =
'.'\ll.h"

¥

B3| =1
'."l|l.a‘
]

a =E
find bc: a: c2 / afg © 1, @l be: a: c2 JTd B

=R

If
o 12:21:4
o 25:21:4
* 4:5:21
e None ofthese/?;‘—lﬁﬁﬂﬁ%‘lﬁ:lﬁ

Correct Answer :-12:21:4

73)

Question Stimulus :-



2/5™ of 35 is / 35 BT 2/5ﬁ T
e 20
° 18
° 14
°* 26
Correct Answer :-14

74)

Question Stimulus :-

Remainder when you divide 432 by 17 is / 5Id 30 432 &1 17 ¥ fauiford = € @ W

° 10

Correct Answer :-7

75)
Question Stimulus :-

The average age of 30 students and their teacher is 15 yrs. If the teacher’s age is excluded, then the
average reduces by one. What is the age of the teacher? /30 BN 3R IS AATIP BT NI 3 15
a9 31 afe sreaTus o1 IY o1 geT fur 9e, dY 3fid U | U< STl 8 | SH® &t 3y fhd-l 82

o 40yrs /40 Y
® 35yrs /35 CL
® 45yrs /45 CL
o 30yrs /30 94

Correct Answer :-45yrs / 45 CL]

76)

Question Stimulus :-



The average weight of 3 men A, B and C is 57 kgs, If ‘A’ of weight 59 kgs is replaced by D,
then the average increases by 1.2 kgs. What is the weight of D? / 3 g‘m‘r AB 3R C &1
auH 57 fre 8, afe 59 fFa) o "A’ & ™M W D F) W a1 9, ot siwa A 1.2 fFa 31 i gt 81
D &7 gui- fda-T 82

® 55.4 kgs / 55.4 fparmH

* 62.6 kgs / 62.6 fparmH

* 56.4 kgs / 56.4 fpamH

e 61.8 kes / 61.8 fpa frarum

Correct Answer :-62.6 kgs / 62.6 faumd

77)
Question Stimulus :-
Ravi brought a bag with 10 % discount on the original price. He got a profit of Rs. 40 by selling it at a price 110 %
of the price at which he bought it. What will be the original price of the bag? / NCE U N ITP IRAD HeU
W 10% P& TR TST| 3W I N P I Yo, AR I9 98 TS AT, BT 110% & 91 W 40 9T BT
ATY 3T | O BT qIATID Yo FIT G2

® Rs. 250 /3. 250

® Rs. 500 /3. 500

® Rs.444 /35, 444

® Rs.333/%.333
Correct Answer :-Rs. 444 /3. 444
78)
Question Stimulus :-

57% of 700 is / 700 BT 57% 8&:
® 399
® 499
e 388
®* 469

Correct Answer :-399



79)
Question Stimulus :-

Fill in the missing alphabets / T &R URT

® aab

® ab,a

® b,a,a

® ab,b
Correct Answer :-a,a, b
80)

Question Stimulus :-

A man can reach a certain distance in 15 hrs. If he reduces his speed by 1/5, then he goes 12 km less in

that time. Find his speed./WTﬂ%Wﬁ% WlS‘ﬂﬁﬁﬁﬂW%lﬁﬂ?mTﬁﬁ
1/5 R °eT < A1 98 I IHY # 12 f5H &0 SIar 81 TP 7 J1d Biferg|

e 4 kmph / 4f&4 ufader

e 3 kmph / 3f&H ufader

e 5kmph / 5f&H ufader

e 6 kmph / 6f&H uferder
Correct Answer :-4 kmph / 4fFH! ufadger
81)

Question Stimulus :-

Which of the following is NOT same as the other three address? / ﬁﬁ;T 79 AR T gTaht = gal & qHTH qﬁ %?

Hampshire Netwire Ltd
%4 Ringwood Lane

ST JOHN PORT
HAMPSHIRE

SQ2 4TW



SOUTH ENGLAND

i. Hampshire Netwire Ltd
¥4 Ringwood Lane

ST JOHN PORT
HAMPSHIRE

S02 4TW

SOUTH ENGLAND

ii. Hampshire Netwire Ltd
%4 Ringwood Lane

ST JOHN PORT
HAMPSHIRE

S02 4TW

SOUTH ENGLAND

iii. Hampshire Netwire Ltd
%4 Ringwood Lane

ST JOHN PORT
HAMPSHIRE

SQ2 4TW

SOUTH ENGLAND

iv. Hampshire Netwire Ltd
%4 Ringwood Lane

ST JOHN PORT
HAMPSHIRE

S02 4TW

SOUTH ENGLAND



® ii
® jv
Correct Answer :-iii

82)
Question Stimulus :-

Which one of the following four address is NOT EXACTLY same as the other three? / fgar
Tdl & A DI 91 91! 99 & TheH IHH 81 82

Musal Yoadinmadji
SKO003 peter square
N’ Djamena

CHAD 008881

i. Musal yoadimnadji
SKO003 peter square
N’ Djamena

CHAD 008881

ii. Musal Yoadinmadji
SKO003 peter square
N’ Djamena

CHAD 008881

iii. Musal yoadimnadji
SKO003 peter square
N’ Djamena

CHAD 008881



iv. Musal yoadimnadji
SKO003 peter square
N’ Djamena

CHAD 008881

® iii

® iv
Correct Answer :-ii
83)

Question Stimulus :-

On selling a sofa-set for Rs.4350 the manufacturer makes a loss of Rs.365. How much did it cost to the

manufacturer? / T% BT AT P! FTUY 4350 H 1 W IATGH B! TUY 365 BT JHAME gial gl
IATEH DI GBI ANTd fha-l USh?

* 4715
* 4000
* 4300
® 4350

Correct Answer :-4715

84)
Question Stimulus :-

Find the next term in the series 3,5,9,17,....ccccvieeeineeennnnnn. / S ® 3RTAT g JTd aﬂﬁnz 3,5,9,17,



° 142
Correct Answer :-33
85)
Question Stimulus :-
Find the next term in the series. / 9@l H SRTAT Uq Td W
0,2,6,12,

e 20

e 30

° 18

° 14
Correct Answer :-20
86)

Question Stimulus :-

In a certain language ‘kolek ta tej’ means ‘early to bed’ and ‘ala tej] meeg’ means'
common bed room’ . Then in that language the word ‘tej’ is used for: / for<dt @ W ®
‘kolek ta tej’ Wﬂ?ﬁl‘d% ‘early to bed’ 3R ‘ala tej meeg’ BT Hddd % * common bed room’| @
39 HTOT H T “tej’ BT UUNT 9P fore giar &:

® room

® bed

® early

® common

Correct Answer :-bed

87)

Question Stimulus :-

In the sequence shown below, which figure comes next? / I feard 4w  SpTelt awﬁ P At
g



Correct Answer :-

88)
Question Stimulus :-

There are two couples in a group of six people - A, B, C, D, E and F. Among them, D is A’s
grandmother and B’s mother; C is B’'s wife and F's mother; and F is E’'s granddaughter.
How many among them are male members? / A, B, C,D, E AMFF Uh B A & e ﬁ'ﬂ
SIS E1SH, D, ABIAFI § SR B PIHEIE; C, B B UAI @ IR FHIAMTE; 3R F, E P AN g1 STH A
faa @ o9 Wew &2



® Cannot be determined / T8l 3T fFaT ST AHdT

Correct Answer :-Cannot be determined / g1 JTd a1 ST THdT

89)

Question Stimulus :-

A + B means that A is the daughter of B. / A + B &1 Hddd g A, B @1 a1 81
A - B means that A is the husband of B. / A-B EFTIIW%A, B EETITI?T%I
A x B means that A is the brother of B. / A x B T HAAd & A, B 3T HTS 2|

If a relationship is represented as R + S + T, then, how is T related to R? / gfe TH 9dY R +
S + TA UM T g, dl, T HTR A T JaY g2

® Sister-in-law / 99¢q

® Grandmother / A=t

® Mother / HIdI

® Mother-in-law / 9T
Correct Answer :-Grandmother / ATt
90)

Question Stimulus :-

Seema introduced Anil as the son of thg daughter of the father of he.r uncle. Anil is Seema’s
./ T A Sifa &1 uRTa Iue Siwd & far ot At & 9¢ & wu § faan s dar
Ca| 2l

Brother / ’l-l'li

Son / €T

Uncle / 3i&d

Nephew / yeftelr



Correct Answer :-Brother / HT§

91)
Question Stimulus :-

Which of the following is the mirror image of EIGHT? / g & & P9 AT EIGHT &1 guvr yfafawa 82

I'TCH.L

LICH.L

. EICHL

. EICHL

Correct Answer :-EIGH'L

92)
Question Stimulus :-

In the following question the first word has certain relationship with the second
word. If the third word has to have the similar relationship with the fourth
word, the fourth word will be: / 5 94 #, Tgd g T gR I & 1Y 5l YR @ HIg &y
21 gl TR Tsg &1 N W5 & 1Y I USR BT HaY g, o TIIT Xeg SNT:

Man : Biography : : Nation : ? 3! : Siial: :31P: ?
® People / ARt
® History / '{I%Iam

® Leader / Adr
® Geography / ‘fﬁﬁ

Correct Answer :-History / §fdg™

93)
Question Stimulus :-

How many different seven letter words can be formed using the I_etters of the word
‘BARKING’ if repetition is not allowed? / af¢ TARIgRT &1 3rgafd T8 €1 &Y &t ‘BARKING' X &
&R BT TANT Hd gT fbaq FUT YR & A1 &R a1 Xeal H1 fAwtor fasan o Ao 82



® 2520
e 720
* 1260

* 5040

Correct Answer :-5040

94)

Question Stimulus :-

Radhika is at present facing south. She turns to her left and walks 15 m, then she turns to her left and walks 7 m.
Then facing west she walks 15 m. How far is Radhika from her original position? / AfreT adar o E'F&‘I'UT P 3R
79 f5d gu 31 98 v 9 3R gadl € iR 157 Terdt ], fh? a5 o I 3R godt § ok 770t et B
i ufdm @t o g fru gu a5 157 gaddt 81 TR 3+ aRafd® ®IF | fhat @R 82

* 3m
* 7m
® 20m
® 37m
Correct Answer :-7m

95)

Question Stimulus :-

Facing towards north, a Sadhu said, “I walked 10 miles, while coming from that direction. Now I would turn back and
walk for 5 more miles. There I would stand on my right leg for 7 hours. Then I would turn to my right and walk for 33
miles and then stand on my left leg for 14 hours. Then I would turn to my right and walk for 5 miles. By then it would
be morning and I would turn to offer my prayers to the Sun.” In which direction would the Sadhu have to turn to

offer his prayers to the Sun? / SR ®1 3R HE fbd gC, T WY A Fel, “H I fazn F 37d g, 10 Hie Iqa
TaT| 3 H o g1 3R 3= 5 Hier T 87 A Ut Rl €T W 7 wvet & ford weT gl ke #
3ot Rt SR TS o 33 it & RRrg I SR bR oot ol 2 W 14 wvEt & R @ g R &
3ot Rl SR ST SR 5 Hiw TG 79 d% Yag g1 TS it o A & I Y orueht yrfw Siftfa e
a1y Y & B 3T yrdr offd v & o i <t fe=m & g ghme

* would have to turn back / W& G&T gRIT
* need not turn / & P! T a1

e to his right / 31a-t grfY &R

® to his left / Mg ST 3R



Correct Answer :-to his left / 3Mq-} arfY 3R

96)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawe
A &t 9 ot = F R R T vy F JuE B:

If you play chess, then you are intelligent. / af¢ T s @ad &, df 0 FFSA &l
* If you don’t play chess, then you are not intelligent. / af | ARA Tl @ed g, <t qH Q@(‘HF[ Tl
il

* If you are intelligent, then you play chess. / af¢ gq Tg'@'ﬂ'l‘l g, TH TSl Qad gl

* If you are not intelligent, then you don’t play chess. / af¢ gH iU &1 81, df g0 T 81 Wad
g

e None of the above. / SURIGd B T8l

Correct Answer :-If you are not intelligent, then you don’t play chess. / af¢ gq gfsu 781 1, @ g0
YA g Werd gl

97)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fowe

I3 &t aF 1 2@ & 1 A ™ vy & W §:

This was once a tadpole or this isn‘t a frog. It wasn’t a tadpole. / Ug HH Th ﬁW BT ddT YT
T I HF3AT A8! 31 g AP T a1 Q! Tl

® This is a frog. / 9§ PYSHT %I
® Jtisn’ta frog./dg PGSl T-FE.pf%l
® All frogs are not tadpoles once. /gt iy ot ﬁW > g qﬁ ﬁ?fl
e None of the above. / U aﬁ'\.{' =|€r'|
Correct Answer :-Itisn’t a frog. / g ® Q3T qﬁ%l
98)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 98 &4 gHd &
33 M Y=t vd sl F aR & w9 &



Statements: / ®Y:
No flower is a rose / ®13 W Ta TaE 81
Lily is a flower / forefl ' o @
Conclusions: / A
I.Lily is not a rose / ferelt Ts ae 981 @
I1.All flowers are not lilies / mﬂqr«r ﬁﬁ‘ﬁﬂﬁ%
e Only conclusion | follows / ¥ad fAwpy | fApadar @
® Only conclusion Il follows / &ae frswd 1 feear g
® Both conclusion | and Il follows / &R d | 3R 1 Q1 FAPed &

® None of the conclusion | and Il follows /ﬁ'ﬁﬂf | Gﬁ?' kK| Hﬂ% i T-Iﬁ IGEANGI %
Correct Answer :-Only conclusion | follows / $dd fAhY | fAwadr @
99)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 98 &Y gd i
38 M Hy=T vd ol & aR 7 WE 6

Statements: / $Y-:

Some bags are boxes / P9 o aa:ﬁ?r

All boxes are tables / I 94 99 &
Conclusions: / fAw:

I. Some bags are tables / I. $9 IMATE

II. All boxes are tables / II. 94 590 A9 §
® Only conclusion | follows / *Had ey | Aeadar %
® Only conclusion Il follows / *Had ey 1 Areadar %
* Both conclusion I and Il follows / fst | 3 gl Fpad %
® None of the conclusion | and Il follows / s | Gﬁ'\’ K: K ﬁz{ ft qﬁ Aeadar %

Correct Answer :-Both conclusion | and Il follows / f&d | 3R 11 o Read %

100)



Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 98 Y9 gHd i
38 T Hy=T vd el & IR 7 W8 6

Statements: / ®Y:

All books are tables. / T4 fdde A9 g1
No Table is a chair. / &3 W a7 A 781 B

Conclusions: / fAwpd:
I. All tables are books. / I A9 frame 21
I1. No book is a chair. / @13 ¥t farara o=if 781 31

® Only conclusion | follows / *Had frspd | freadr %
® Only conclusion Il follows / *ad freed 1| Feadr %
e Either I or Il follows. / T @Y 1 AT fb¥ 1 fArpear %

® Neither I nor Il follows. / 5T a1 | 3R 9 & 1 fpadar g
Correct Answer :-0Only conclusion Il follows  pad frspd 1| T %



